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PROBLEMAS DE EXPRESIONES ALGEBRÁICAS Y OPERACIONES 

Problema 113: 

Calcular el valor de x, en: 

(𝑎 + 𝑏)[
𝑎 + 𝑏𝑥

𝑎 + 𝑏
−
𝑎 − 𝑏𝑥

𝑎 − 𝑏
] =

𝑎𝑏𝑥

𝑎 − 𝑏
 

Solución Problema 113:  

(𝑎 + 𝑏)[
𝑎 + 𝑏𝑥

𝑎 + 𝑏
−
𝑎 − 𝑏𝑥

𝑎 − 𝑏
] =

𝑎𝑏𝑥

𝑎 − 𝑏
 

(𝑎 + 𝑏)[
(𝑎 + 𝑏𝑥)(𝑎 − 𝑏) − (𝑎 − 𝑏𝑥)(𝑎 + 𝑏)

(𝑎 + 𝑏)(𝑎 − 𝑏)
] =

𝑎𝑏𝑥

𝑎 − 𝑏
 

(𝑎 + 𝑏)[
(𝑎 + 𝑏𝑥)(𝑎 − 𝑏) − (𝑎 − 𝑏𝑥)(𝑎 + 𝑏)

(𝑎 + 𝑏)(𝑎 − 𝑏)
] =

𝑎𝑏𝑥

𝑎 − 𝑏
 

(𝑎 + 𝑏𝑥)(𝑎 − 𝑏) − (𝑎 − 𝑏𝑥)(𝑎 + 𝑏) = 𝑎𝑏𝑥 

𝑎ଶ + 𝑎𝑏𝑥 − 𝑎𝑏 − 𝑏ଶ𝑥 − (𝑎ଶ − 𝑎𝑏𝑥 + 𝑎𝑏 − 𝑏ଶ𝑥) = 𝑎𝑏𝑥 

𝑎ଶ + 𝑎𝑏𝑥 − 𝑎𝑏 − 𝑏ଶ𝑥 − 𝑎ଶ + 𝑎𝑏𝑥 − 𝑎𝑏 + 𝑏ଶ𝑥 = 𝑎𝑏𝑥 

𝑎𝑏𝑥 − 𝑎𝑏 + 𝑎𝑏𝑥 − 𝑎𝑏 = 𝑎𝑏𝑥 

2𝑎𝑏𝑥 − 2𝑎𝑏 − 𝑎𝑏𝑥 = 0 

𝑎𝑏𝑥 − 2𝑎𝑏 = 0 

𝑎𝑏𝑥 = 2𝑎𝑏 

𝑥 =
2𝑎𝑏

𝑎𝑏
= 2 

 

 

 

 

 


